Figure 1

13w 000 S

= \' —

13wosz s

Nw 005 22¢ |

(w)nanbuon
buan
By @

0L

SZiZ €725

412 268)
Z8i€]

1S99AM

€590aM

NW 008 22€

Nw 008 22€ |

L0
656@

00 W
09-st
si-9 O
9-v O
v-0o W

(w,ny) apuabaypuaba

NW 00 22€

*

o

6V90aM

NW 052 22¢€ | NW 000 22€ | NW0SZ 12€ | NW 005 12€ |

6 ouoz

6799 AM!

NW 052 22€ NW 000 22€ b NW0SL 1Z€ | NW 00 12€ b
Nwoszzze | Nw 000 zZ¢ | NwosZize b NWoos Ize |
Nnoig auozZ//uozZ nois

NW 082 22€ | NW 000 22€ | NW 0SZ 126 | NW 00 126

}SaN0,| S19A anA 3jeuipn}ibuo] uol}2as noig IN3}09g
/ 1S3\ Bujoo malA uonoag jeulpniibuoT 103038 noig

NWOSZ iZe L Nw 002 ¢ |

723
17400
0990aM

NW0SZ 12€ | NW 000 2€ b

NW sz 1ze | NW 00T 12€ +

13W 000 S

NW 082 12€ | NW 000 12€ |




